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PART A

1. The, temperatures in degree Fahrenheit at (5. What must be added to 1 to make it equal

4: 00 p.m. for a one-week period in a certain toy? y
city are 47, 68, 58, 73, 42, 43, 68. How many +1 .
days are of greater temperature than mean {a) y_
temperature ? . y-1
o w0 Y2
e 2 .
2
d 1 © yo+1
3 . y -
2. X eats 1/3 of an apple. His friend Y’ eats yZ -1
3/4 of the remaining apple. What part of (d) y
the apple is left behind ?
(a) 1/2 6. Qut of 320 students, 200 students take tea
_ and 80 students take coffee only. The number
(b) 1/3 of students who take both tea and coffee is
: equal to the number of students who take
(¢} 1/4 neither tea nor coffee. What is the number of
students who take both tea and coffee ?
(D 1/6
(a) 10
by 20
3. If the product of four consecutive integers is (c) 30
equal to one of the integers, then what is (@) None of the above.
the largest possible value of one of the
i 2
integers 7. How many pairs containing a man and a
(a) -1 woman can be formed out of 5 men and
5 worhen ?
(b) 2
! (a) 30
() 4 ® 25
(d) None of the above (c) 20
(d) 10

4. What.is X’ in the sequence 7, 13, 24, 45, X,
167 ? 8. Consider the following analogy :
If ‘Spoon’ is to ‘Fork’, then ‘Spade’ is to

(a) 66

{(a) Basket
) 73 (b) Scissors
() 86 (¢) Hoe
d) 98 (d) Sickle

0-DJT-MD-M-HB {12 -A)
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fa) 4
(b) 3
{0 2
d 1

K o Ve & wo-feE @ & | 39 i Yy 9w
T J7 o F-dlaE @ ¢ 1 9 & fea
e g @ & ?

(a) 1/2
b 1/3
() 1/4
@ 1/6

afE aR HANE qUilet B UEwS I A 06 qolid
S TR &, a1 Eiel 4 ¥ o Qiis &1 g w9a
AH TR ?

(a) -1

(b) 2

{c) 4

@ 3@ H T BE @

3T 7, 13, 24, 45, X, 167 A X' @& ?
(a) 66
(b) 73
(c) 86

(dy 98

HOT A
0 == A v TwE & 3Et & fae 4.0 00 €57 (5.

7™ B {3 BREEe § AwEE 47, 68, 58, 78, 42,
43, 68 ¢ | 5 &9 e o= A fde aowe
T E ? ’ --

3 -A)

%ﬁmm.‘m%ﬁyﬁiwﬁm?

(a) y+1
y-1
y—1

b A

(b) y+1
2

@ Y+t
y
2

@ I=1
y

320 el % ¥, 200 e Faa arr O & IR
80 faamdf daw @it G & | By R T A |

9% arer TRt & e = foafddi & v s

RReNadaa iy 98 W | a3
A & O ard frenfal S G g P

{(a) 10

(by 20

(e} 30

(@) G Y PE

5 gost 3k 5 Afgemsl ¥, v6 gow Sk v Hfeen
TS B ML AU ST BT & ?

(a) 30
by 25
(cy 20
(d) 10

fermforfaa wgw w AR Sifwe

fe T & YA B (Bb) A §, A BEg &
e foedy & ?

(a) <y

(b) &A@

(¢) et

(d) R




10.

11.

A bell rings every 18 seconds. A second bell
rings every 24 seconds and a third bell rings
every 32 seconds. If all the three bells ring at
the same time at 8 ¢’clock in the morning, at
what other time will they all ring together ?

(a) 12:40 hrs
(b) 12 : 4B hrs
(¢c) 12:56 hrs
(d) 13 :04 hrs

By selling 10 oranges for ¥ 5, a man loses
25%. How many should he sell for T 5 to gain
25% ?

(a) 3 e
(b) 4
() b
@ 6

In & row ‘A’ is in the 110 position from the
left and ‘B’ is in the 10" position from the
right. If ‘A’ and ‘B’ interchange, then ‘A’
becomes 18 from the left. How many persons
are there in the row other than ‘A’ and ‘B’ ?

(a) 25
(b) 26
() 27
(d) . 28

Direction : For the next four (04) items that follow :

0-DJT-MD-M-HB

There are six persons-A, B, C, D, E and F.
A has 3 items more than C.

D has 4 items less than B.

E has 6 items less than F.

C has 2 items more than E,

F has 3 items more than D.

12.

13,

14.

15.

{4 -A)

Which one of the following cannot be equal to
the total number of items possessed by all the
six persons ?

(a) 41
(by a7
(c) 583
{d).. 58

Consider the following statements :

1. The total number of items possessed
by both A and E is equal to the total

number of items possessed by both
C and D.

2.  The total namber of items possessed by
both A and C is equal to the total

number of items possessed by both
B and E.

Which of the above statements is/are correct ?
(a) 1 only

(b} 2 only

{(c) Both 1 and?2

(d) Neither 1 nor 2

The difference in the number of items
possessed by a pair of persons is 1. How many
such pairs of persons are possible ?

{a) 2
(b) 3
(c) 4
{d) None of the above

Consider the following statements :

1. The total number of items possessed by
B and D together is twice the number of
items possessed by A.

2.  The total number of items possessed by
E and F together is twice the number of
items possessed by D.

Which of the above statements is/are correct ?
{a) 1 only

(b) 2 only

(¢c) Both1land?2

(d) Neither 1 nor 2
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10.

11.
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P G & 18 JBHUE R o ¥ | v g 6 &
24 ¥&03 W 3R a0 98 R 32 JPvs W T
® | gl il a1 9l e & v  gew 8: 00
ol gotdl €, O g 6w g w4 Wi ve iy
Fa ?
(a) 12
by 12:
(c) 12:
(d) 13:

: 40 qoF
48 §a¥
56 o
04 §31

10 ¥Rl @Y T 5 ¥ 99 o< 5 =fts & 25% =iy
A g1 T 5 b I @ A R 25% oy
gnm ? .

{(a)
(b)
{c)
(d)

L= T ) B N oV

foir ufts 7 A @8 3R ¥ 14 Ref ¥ € sk B

e 3R 108 Rafr ¥ 1 ARk sk B v

e o, ‘A’ 9 AR Y 1867 Ferfa F & smer &
ifts § ‘A 3R ‘B' & 3remmar b afes € 2

{a) 25

(b) 26

(e} 27

(d) 28

e : 3mr 3 A ar (04) FEEE & o
Beafb A, B,C,D,E3RF& |
AGUECH I RIS |-
DEITHBI4ADABAE |
ESTTF 605 &0 & |
CHFIHES 20 =T & |
FHug DY 3 e |

12,

13.

14,

15.

{5 -A})

fFrefeRaa # & BF-0 vo, Wi e el
B Al B T T B WR TR T

{a) 41

(by 47

{e) 53

(d) 58

FrafaiRed wuEl ) R Hitwe -

1. AR EZF &y o O & o e,
C 3R D A1 & o & g & o7 T b
WER ¢ |

2. AR C & ww & Mt & Bt W,
B 3R E a7 & I ot ish o1 e W &
RR 2 |

T A B o T Y 2
(a) &ad 1

{b) ad 2

(© 13k 22

(d T2

TP et Atk & URT B sl @Y W @ 3R 1
& | safesdl o 2= Rt Shfgadt wwa & 2
(a) 2 '

by 3 ¢

{c 4
(d) IR F F oS @
Dy S M-

1. B3RDT o o A5 & o BN, AD
U B TS @ e B g R

2. E3RF & uw & A5 & g1 S@1, D&

IR B i B O @ gl #
I0ges HeRl A A B A ToH w2
(a) ®Fa 1

(b)) Fad 2

() 13k 223
(d) ddr 1,982



16. _ 21.
running at 80 km/hr to cross a bridge 160 m
long ?

(a) 12 s
(b) 18 s
{c) 30s
(d) 60s

17. A.sum of money doubles itself at a compound
interest in 12 years. The number of years it
will take to become eight times is
(a) 24
(by 36
(¢ 42
(d) 48

18. What is X’ in the following table ?

3 11 9 5 29,
9 2 1 10
5 6 X 4

(a). 15

(by 11

(c) 10

(dy 7

19. Consider the following :

P is shorter than Q but taller than R.
S is shorter than P but taller than R.
Tis shorter than Q but taller than P.
Who is the shortest person ?

(a) P

b Q

{¢y R

dy S

20. Which of the following figures from among A,

B, C, D, E combine and fit into each other to |23.
form an equilateral triangle ?
A B C D E
(ay B,C,D
(b A,B,C
(¢ C,D,E
(& B,C,E
0-DJT-MD-M-HB (6 - A)

What is the time taken by a 240 m long train

i

r

1}
How many rectangles (excluding squares)
are there in the following figure (each small
square is of 1 cm length) ?

(a) 22
(b) 20
() 18
(d) 16

Consider the following figure :

TIN

(AH V
836

30

The triangle represents doctors; the circle
represents players; the rectangle represents
artists. How many doctors are both players
and artists ?

@ 4
b) 3
© 8
@ 5

A number consists of 3 digits whose sum is
10. The middle number is equal to the sum
of the other two digits. The number will be
increased by 99 if its digits are reversed.
What is the number ?

(a) 370
(b) 253
(c) 406
(d) 442 .




16.

17.

18.

19,

20.
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R 240 m ot 3T B, 3 80 /i o TWER ¥
el T 2, f5T 160 m &9 g &1 IR & & e
|q9g W ?
(a) 12s
(by 18s
(c) 30s
(d), 60s

DS EFRINT TPl a1 W 12 auf & g & e
¢ | 3% ORI D1 36 AT B & foe ot & e
&1 g ?

{a) 24

«(b) 36

(¢) 42

(d) 48

Frefofas aro & X aar & »

3 |lun]|lo9l|s
9 | 211 |10
5 | 6 | X | 4
(a) 15

b 1

(cy 10

d) 7

Frftieg R foar S -

PERI? QAT g RY |
S PIAfETEa e R |
TeRI 2 QA afeadar g PR |

itk E

(a) P
by Q
(e R
{d 8

freiifsa A, B, C, D, E & ¥ &= I snpfadt
firerae 3o ¥ fisg &1 X o wwag Bge aeme 2

Ay DL

{a)
(b)
(c)
(d)

(el =N-Ne

-

wOorE
H= Qo

21.

22.

23.

(7 -A)

freifa smefa & (7% g af 1 em dar & ) e
3mad (qoif IroE &) & ?

(a) 22
(b} 20
(c) 18
(dy 16

fr=ife smefa w faar S
2™

Sl

30

frys st & Frefa axar & oo feafsal &
orofia o=t &: 3 SaER) & Feta s &
o SR, Raems) 3R seeR AT € 2

(a) 4
(b). 3
(c) 8
(d) 5
fo dEen ¥ 3 3% € e amew 108 | v &
3 I & 3P B ANTHA P TR § | afE Gem &

31! BT Iele fear oe, & e 99 At B Feh |
IE GETF E ?

(a) 370
(b) 253
{c) 406

(dy 442



24, Which one of the following diagrams best [28.
illustrates the relationship among the
following three items ?

Tall men, Black haired, Indians
o (@
29.
(b) @ O
30.
(c)
(d)
31.

25. How many numbers are there between 100
and 300 which either begin with or end with
27
(a) 109
(by 110 32.
(e) 111
(d) None of the above

26. Hot food is packed in shining aluminium foils
because
(a) shining aluminium foil is a good 33

absorber of heat '
(b} shining aluminium foil is a poor
absorber of heat
(c) shining aluminium foil is a good:
radiator of heat a4
(d) shining aluminium foil is a poor|
radiator of heat

27. A person who lives exclusively on milk, egg
and bread is likely to become a victim of
(a) Rickets 35.
{b} Scurvy
(¢ Beri-Beri
(d) None of the above

0-DJT-MD-M-HB (8 -A)

In SONAR, which one of the following waves
is used ?

(a) Ultrasonic waves

(b) Infrasonic waves

(¢) Radio waves

(d) Micro waves

The duration of day is"the highest on

{(a}- Earth
1)) Mercury
(c) Venus

(d) Mars

When we see an object, the image formed on
the retina of our eye is

(a) real and erect

(b) wvirtual and erect
(c} real and inverted
(d) wvirtual and inverted

The gas usually filled in the electric bulb is
(a) Carbon dioxide

(b) Hydrogen

(¢) Oxygen

{d) Argon

The harmful ozone in the troposphere s

associated with

(a) smog formed in cities
(b) smoke of forest fire
(¢} late night fog

(d) marshy land

Mixed fertilizers are those that contain
(a) urea

(b) ammonium sulphate

(¢) calcium dihydrogen phosphate

(d) sodium nitrate

Which one of the following is nof an element ?
(a) Gold

{(b) Brass

{c) Copper

(d) Tin

Which one of the following is a ‘true fruit’ ?
(a) Apple

(b) Pear

(¢} Banana

(d) Fig



24,

25.

26.

217.
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Preifisn amtall # 3 wi-a ve PrafiRad & wat
¥ d9 e P WP w9 W Ramr g ?
¥ s, B A @, sRda

.
® @ O
. &

2 IS U1 w8 At e et 100 3R
300 % Sr € ?

{a) 109
(b) 110
{¢) 111

(d) 39w A B @

™ @ TRl tgfaiem ufdi & d fean s
g, wife

(a) WP vt e e @ sl
oD &

(b) TSl bgftew i I @ Fow
HITH &
©) gﬂﬁﬁb@ﬁﬁmﬁmaﬁm%ﬁm&

d) TP : e O A

(d), m%ﬁﬁﬁrﬁw b e
5 afth 3 w9 3 Baer gy, aier 3R 33 & wrex
gl &, 9% g St &1 Brew & 9o @ ?

(a) JE (Rde)

(b) <&

(¢} &I

(A 3gs ¥ ¥ B T

28.

29,

30.

31.

32,

33.

34.

35.

(9 -A)

SONAR #, frfafaa & ¥ a9 @ = smma &
FTE ?

(a) T a1

(b) EHA R

() sy a3

(d) &% &<l

&g we W R &l semam & 2

(a) gt

(b) g ,
() P

(d) wHmEA

59 w1 &0 oy @ d@d €, 9 gert sifE) &
gfcuea W & ufafe s & 2

(a) arxifde 3R FedogT

(b) 3T 3R Feduind

(¢) ar=ae 3R et

(d) 2R 3R areeit

foet S s W ameR R W s gl Ay & »

(a) @R SBHTEEs

(b) EEEISH
(c) 3iiFisH
(d) 3m=

&lisa F gie) 3E fead e & 2
(a) WEXi ® &9 Qe ¢H-BIeT

(b) & &1 3 HT it

(6) R AT FT BT

(d) @@ yfir

faf3a 3w a9 38 &, ot

(a) gR@ &y &

(b) 3MfEH Acbe S &

(c) fcwrom SREEESH BiEbe ar &
(d) wfgom e & &

feffaa i d s aos, da 7 ¢ 2
(a) =i

(b) Ot

(¢} TH

(d) g (=)

Freferiaa % & B 0 vo “arafis wa @ 2
(a) 99

(b) ArgTY

(¢ el

(@) 3R



36.

37.

38.

39.
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[G))

.In which one among the following languages |40.

was the ancient Sangam literature
composed 7

(a) Sanskrit

(b) Prakrit

(c) Pali

(d) Tamil

‘Neel Darpan’ was authored by
() Derozio

(b) Bankim Chandra

(¢) Dinabandhu Mitra
Rabindranath Tagore

Sido and Kanhu were tribal rebels of

(a) Odisha

(b} _Assam

{c) Chotanagpur
(d) Rajasthan

41.

Match List I with List I and select the correct
answer using the code given below the lists :

List I List IT
(Peasant (Place)
struggle)
A, Mapilla uprising 1. Assam
B. Phulaguri dhawa 2. Jharkhand
C. Santhal hool 3. Chotanagpur (42.
D. Birsaite ulgulan 4. Malabar
Code :
A B C D
(a) 4 3 1 2
(b) 2 3 1 4
() 2 1 3 4
(d 4 1 3 2

{10 - A)

Right to Equality under the Constitution of
India is a Fundamental Right. This stands
for

1. Equality before the law and equal
protection of the laws.

2.° Prohibition of discrimination on any
ground whatsoever in publie life.

3. Reservation of seats and posts for
weaker sections of society in
government services and educational
institutions.

Select the correct answer using the code given
below :

(a) 1 only

(b). 2 only
(¢) 1 and 3 only

(dd 1,2and3

According to the Constitution of India, India
is a
(a) Union of states
(b) Federal state

(¢) Partly federal and partly unitary state

(dy Unitary state with federal features

Which one among the following was
characterized by Mahatma Gandhi as a
‘post-dated cheque on a failing bank’ ?

(a)
(b)

Cripps Proposals .
McDonald Award
(c) Wavell Plan

(d)

Simon Commission Report



36.

37.

38.

39.

Rrefifen # @ fog om ww &y F i
[T 4T 7
(a) ¥&pa
(b) W
(c) et
(d) afE

"7 for B @S DA o1 ?
(a) RN

(b) dfsw we

(c) drag i

(d) &R AR

Rl ok B g e & e fadd & 2
(a) anfgem

(b) HH

(c} BRFAMR

(d) oI

T Lo g 11 ¥ gifera ohifoe sik gfudt & A

fee e FT & FEM IR WE TR gHe
o et
) ~7

A, iiften fadw 1. s

B. . BETRY et | 2. FREE

C. < gl 3. BIRFNR

D. fume see 4. WeER

kSl
A B C D

(a) 4 3 1 2

(by 2 3 1 4

(e) 2 1 3 4

(d) 4 1 3 2

0-DJT-MD-M-HB { 11

40. WA & WU & s

/1 faftr & gy o 3R R & e
TREOT | ’

2. WK siad ¥ fee o smeR ) @
YU B afave |

3. WRON daE 3k el T e &
TSR anil o fore wET 3R 9@ & ey |

Y Re e e & am @ wE I g
(a) e 1

(b) &ad 2

(¢) ®aa 13R 3

(@ 1,23k 3

41, 9RA § AEAUF & AR, WRd
(a) =4 @ A 7
(b) W T &
(c) 3grE waw 3R siv RS U ©

(d) v et aen e U= 2

42, Fr=faRag & A o v @ Age Al 3 REarfoar
A ¥ | o1 T FR-EAifEa de TR @
Farn o ?

(a) foow yea

(b) HBSHICS 3@
(¢) da@ ara

() v e Rad

- A}



\\

Amnestyxlntematlonal 1s an NGO that
campaigns-for o %_. ~
{a) international peace ~
(b} disarmament
(c) economic cooperation
(d) protection of human rights
44, The World Trade. Organization {(WTQ) is an
international organization which sets the
rules for Global Trade. It was set up in the
year 1995 as the successor to the
(a) General Agreement on Trade and
Tariffs
(b) International Monetary Fund
(c) World Bank
(d} United Nations Conference on Trade
and Development
45. Who. among the following is not appointed by
the President of India ?
(&) Prime Minister
(b} Attorney General of India
(c) Speaker of Lok Sabha
(d) Governors of the States
\
46. The Constituent Assembly of India was set up

according to the proposal of the

(a) Cripps Mission
(b) Cabinet Mission
{(c) Mountbatten Plan

{d) Gandhi-Irwin Pact

0-DJT-MD-M-HB

+

47. In the context of Democracy, which one
among the following is no# correct ?
(a}) On the basis of the means and ends :
In a democracy state is the means and
welfare of man is the end
(b) On the basis of peoples’ consent
Democracy functions according to public
will
(¢} On the basis of rights and freedom :
Democracy safeguards the rights and
liberties of citizens
{d) On the basis of administration
Democracy is rule of one strong man.
Individuals are obliged to obey his
command
48. With which one among the following
countries did India sign the ‘Treaty of
Friendship’ in August 1971 for 20 years ?
(a) United States of America
“(b) Union of Soviet Socialist Republics
(¢) Pakistan
(d) China
49. The geothermal power plant of Manikaran

is located in

(a) Uttarakhand

{b) Arunachal Pradesh
{¢) Sikkim

(d) Himachal Pradesh

(12 - A}
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43.

(a)
(b)
(c)

(d)

44, fiva IR "R (WTO) Rl v & s

fogg-mRr & fov fraw FeiRa sar & )o@ o
1995 ¥ fohads JTRadl & w9 ¥ nfda & T P

(a) TR U4 WS R AW F9sia
(by IR g1 Py

) fwds

(d) g I WNUR vd famra aie

45, frfofaa § & o, wRa & el gra frges 7@

o e 2

Ye HAY

R BT WEFAGaRT
S THT Hegel

[T F AT

(a)
(b)
(c)
(d)

46. ¥RA o dfaum w9 e WA & AR Tida

&g o ?

() e e

&fsme firem

(c) W¥ede A
(d)  e-gRRE e

(b)

0-DJT-MD-M-HB i 13 -

47.

48.

49.

| (a)

L

PR -
Aledd & e T FefaRea ™ S-sh-ar e o

" . L Pt ‘
:?E',‘? P -
P %.ﬁ"“‘

e 3R T $ HWUR R
Aieaa # e AWeE ¢ 3R A7 B Sean
e

R ¥ MR W
DT ANB-TEW F AR B BT &

(b)

iR 3R @ & MUR |
Ahdd ARG & ASRT 3R w@E=aEi &
TRET BT &

(c)

WO & 3R W :
TEdT OF ARhene i & 2H ¢ | Afe
IS AR e b fore amea &

(d)

wrRa ¥, FelRea F @ g o 2w & W anma
1971 § 20 auf & e HR G w® aER
foear?

(a) WgH TSI D

(by wfTa Ww (g 3% d@fdad ARaR
Rusferes)

(c) ™
(dy I

WWW%AWWWW%‘?
(a) FRRES

(b) 3TV W2

(¢) Tafoew

() e e



~ ..
e a 32, . ‘

50. Match List™ I*-with .List 1I and select the [53. Match List I with List I and select the correct
correct answer us‘i"ﬁ}s tfi’e'ﬁéodé: given below anawer using the code given below the lists :
the lists : ' List I List IT

: tate) Mineral
ListI List I . —(‘? ate) (Mineral)
(Indian Sea Port) (Feature) A: Gujarat 1. Iron Ore
B. Assam 2. Copper
A. Vishakhapatnam 1. Artificial Harbour .
: C. Rajasthan 3. Salt
B. Cochin 2. Naval Base D. Odisha 4. Petroleum
C. Marmugao 3. Natural Harbour Code :
D. Ch i 4. D t A B c D
. Chennai . Deepes @ 3 9 4 1
Code : (by 3 4 2 1
1 2 4
A B C D © J
dy 1 4 2 3
(a) 1 2 3 4
M) 1 3 9 4 54. Match List I with List II and select the correct
answer using the code given below the lists :
(c) 4 3 2 1 List I List I
(Relative position (Date)
d) 4 2 3 1 of the Earth)
A. Aphelion 1. 4% July
B. Winter Solstice 2. g January
51. Extensive Mangrove vegetation in India is C. Perihelion 3 21% June
found in d
D. Summer Solstice 4. 22" December
(a) The Mahanadi Delta Code :
(b) The Rann of Kutch A B C D
(a) 3 2 4 1
{¢} The Sunderbans ®) 3 4 9 1
(d) The Godavari Delta e 1 4 2 3
(d 1 2 4 3

62. Which one among the following is a form of
precipitation ? 55. Which one among the following is nof a
tributary of the river Godavari ?

(a) Dew {a) Tungabhadra
(b)  Frost (b) Indravati

(c) Sleet (c) Wainganga
(d) Sublimation _ {(d) Pranhita

0-DJT-MD-M-HB {14 - A )
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51.

52.
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T 1 g 113 gt e sk gl &
few v B & w@ e wE IR g
gl 1 n
(9l ( )
R )
A faeramew 1. PEm deme
B. @M, 2. AR &
C. WREWN 3. Wplis deme
D. o= 4. TARAA |
k3
A B C D
(a) 1 2 3 4
(b 1 3 2 4
(c) 4 3 2 1
(d) 4 2 3 1

WRd & =E U Y dvg gTwfy ogf uE S g ?
(a) WEFAl Seel
(b) & P T

(c) ¥=XgA
(d) Teredr &

frrafofag § & o9 W oo, 0T T 06 WBR B ?
(a) 3N

(b) TR

(c) fem3fe

(d) FeduEs

53.

54.

55.

{ 16 - A}

T 1@ G 112 g o sk gt & 9
few e g @ yAm IR TR IR e
gt I g
(hicail (@)
A. . TSRE 1. i 3O
B. 3=H 2. am
C. RN 3. TE
D. 3hf¥em 4. WRmEm
e

A B C D
(a) 3 2 4 1
(b) 3 4 2 1
(© 1 2 4 3
d 1 4 2 3
T 13 g 1 ¥ gafea S 3R gt © e
faw M B 1 O R TR IR G :

et 1 g

(gedf} &t (fa7i)

aner Rerfd)
A W 1. 43AR
B. <f&or s 9. 3 el
Cc. A 3. 213H
D. IR TR 4. 22 RER
R

A B C D
(a) 3 2 4 1
(b) 3 4 2 1
(© 1 4 2 3
(d 1 2 4 3

Frafafaa & & -/ ve, TeEd 76 & w@uD
T T 2P
(a) v
(b) geraet
(¢) QTN
(dy wfoga
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59,
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The proportion of gases changes in the higher [62.

layers of the atmosphere in such a way that

oxygen will be almost in negligible quantity at

the height of

(a) 10 km

(b} 50 km

{(c) 75km

(d) 120 km

Regur soil is also known as

(a) Laterite soil

(b) Arid soil

(c) Black soil

(d) Peat soil

Which one among the following is the first.

biosphere reserve of India ?

(a) Sunderbans 64.

(b) Simlipal

(¢} Marnas

(d) Nilgiri '

The beginning of a significant private-public

sector participation in road projects was made

in India with the launching of India’s largest

road project called

(a) National Highways Development Project

(b) Central Road Board Project 65.

() Road Development Project

(d}) National Roadways Development
Scheme

Which one among the following price indices

does not indicate net asset value of a stock ?

(a) Residex 86.

(b) Sensex :

{c) Nifty

(d) Wholesale Price Index ’

Which one among the following was not a

recommendation of Chelliah Committee on tax

reform ?

{a) Removal of various concessions and
exemptions

(b} Reduction of import duties on all
commodities

(c) Intreduction of MODVAT (Modified
Value Added Tax) to avoid cascading
effect of indirect tax

(d) Introduction of simplified tax scheme for
small traders

63.

87.

(18 - A)

Portfolio investment does m;v&tl consist of
(a) Foreign Institutional Investors

(b)  American Deposit Receipts

(c} Global Deposit Receipts

(d) German D'eposit Receipts

Which one among the following does nof fall

undér WTOQ's mission ?

(a) Assist developing countries in its trade
activities

(b) Set rules for trade policy

(¢) Regulate international
transactions and markets

(d) Protect small and weaker countries
from larger, more powerful ones

financial

Which one among the following regarding the
basie objectives of India’s First Five Year Plan
is not correct ?

(a) Emphasized on agriculfural
development

(b) Advocated huge imports
(c) Advocated price stability
(d) Advocated power sector development

Which one among the following is the
currency of Venezuela ?

(a) Lira
{b) Peso
{(c) Bolivar
(d) Krone

Six industrialized nations had an association
before formation of G-8 Summit. The original
members were U.S., UK., France, Germany,
Italy and Japan. Subsequently two nations
joined. The two countries are

(a} India and China

(b) Brazil and South Africa
(¢) Russia and Canada

(d) New Zealand and Mexico

What is the colour of ‘Black Box’ that is found
in Aircraft ?

(a) Black
(b} Red

(c) Blue
(d) Orange
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e $ IR Wat ¥ A @ U 3 R_e
Faoren & 6 ve Su & 918 sifeiis & e
TG AT E | sEdas @ & ?

(@ 10 km

(b) 50 km

(¢) 75 km

(d) 120 km

T8 geT B 3R g A § T € 2
(a) TICUET g
(b) YD T

{c) DO
(d) U gar

fr=foleaa ¥ ¥ o ve, yRa & wdwem Sadza |

fed ¢ »

(a) W
(b) Foxiua
{(c) TE9H
(dy =R

RA ¥ Fea uRaAemET # wEwyf Fel-adate
8T FEHITAT @1 YR, HRA & B & geaw
g URAT 3R B T gE ?

(a) IR wemnt e aRdsmr

(b} HET WSH aF gD

(c) WE& fawmN gRAEHT

(@) I TSHERT faHr A

frfafea & & oF @1 e dma eie,
i & faa okt gea o Pii 78 a=xar ?
(a) XFISTT (Restdex)

(b) [T (Sensex)

(c) TR}y (Nifty)

(d) I I GEIi®

frafafea 4 3 o 9 v, W goR W) It

aftfer o RreRer 7&f o »

(a) fafim Rawmel 3ik gel o gern s

(b) =W IMEE aeRl W A 3w A B
T

(c) W& @< & @UFr WWE & IReR & fou
MODVAT (3refErd Jea-Afad ) & o

T
(d) Br MRl ¥ foe aeliga ax e gw
G

62.

63.

64,

65.

66.

67.

(17 - A

uemifaar g sy e e o s=ar ?
(a) faoeht v FRee

(b) 3mRP I

(¢) fagaamd 1 O

(d) FT I e

frafafaa ¥ ¥ 39 o, WTO & fBrem o 5

3@ P,

(a) foomde ot & =% =R Tawag
TR &

(b) =R A & o Fow e s

(c}) SiRiga fTdm aAt 3R eeRl @
fafrrata s

(d) B 3R sEngd gda 2ot @ w3 3k s
wifepanell 23N} ERewr &

WRT & W2 UUasa AT $ MURYA 329t &

R A FefRed d A s @ s, w8 7 & 2

(@) T PN foorm W aa R

(b) THY R 3Tl &1 verawdH far

(¢) ¥ ra Rerar o verawdT fean

(d) 39 oftp de f9mr &1 vermel fsar

ﬁlﬂ%ﬁﬁﬁﬁaﬁ?ﬁ%,éﬁmaﬁﬂﬁ??
(a) @RI

(by O

(¢) ®ar

(d) B

G-8 R @t & oA ¥ g Be i st @
WY A1 | e R US, UK, Wi’ s, g ik
SO & | AR A & I S Wi gu | 3 QY g
PHAFE?

(a) ¥Ra IR I

(b) et 3R afEor adra

(¢) w9 3R F=r

(d) =g aires ik dfemar
gmﬁwﬁwmm"mm'awﬂm
?

(a) Bre

(b)

(¢) e

(dy =T



68.

69.

70.

71.

72.

0-DJT-MD-M-HB

Which India-born biologist bagged the World's
first International award for outstanding
scientific werk that promotes sustainable
development. globally 7

{a) Vandana Shiva
(b) Medha Patkar
(c) Kamal Bawa

(d) Gyalwang Drupka

Who among the following was recently
honoured with Dadasaheb Phalke Award
(2011) ?

(a} Soumitra Chatterjee

(b) K. Balachander

(¢} D. Ramanayudu

{d) Supriya Choudhury

Who among the
Templeton Prize

following received the
in May, 2012 for his

contribution to “affirming life’s spiritual
dimension” ?

{a) Desmond Tutu

{(b) Dalai Lama

{c} Anna Hazare

(d) Baba Ramdev

Which State Government has recently

imposed restrictions on the visit of foreign
tourists to the areas inhabited by tribals ?

(a) Jharkhand

(b) Chhattisgarh

(¢) Madhya Pradesh
(d) Odisha

+
Consider the following statements :

1. A road has been named in the name of
India hockey player Dhyanchand in

Australia.

2.  Australia has been selected as a host
country for 2014 Commonwealth
Games.

Which of the above statements is/are correct ?
(&) 1 only

(b) 2 only

{c) Both1land?2

(d) Neither 1 nor 2

73.

(18 - A}

74.

75.

With reference to National Rural Health
Mission (NRHM), which of the following are
the jobs of ‘ASHA’, a trained community
health worker ?

1, Accompanying women to health facility
for antenatal care check-up.

2.  Using pregnancy test kits for early
" detection of pregnancy.

Select the correct answer using the code given
below :

(a)
(b} 2 only

(cy Both1land?2
(d) Neither 1 nor 2

1 only

Consider the following statements :

1. United Nations Public Service Award
has recently been won by Uttar Pradesh
Government for enacting and
implementing for the first time in the

country a Public Services Guarantee
Act.

2. The Act guaranteed the delivery of basic
public services to citizens within a fixed
time limit.

Which of the above statements is/are correct ?

(a)

(b) 2 only

(c) Both1and2

(d) Neither 1 nor 2

1 only

Consider the following statements : °

1. The National Telecom Policy 2012 seeks
to abolish roaming charges.

2. The Policy allows
portability as well.

national number

Which of the above statements is/are correct ?
(a)
(b)
{¢) Both1land?2

(d) Neither 1 nor 2

1 only
2 only
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Rreaeamdt & & aRviG e @ gaftE oo an
Ipe defe o & fore fea @ wdwem sierig
R W@ A qer/aet 9Ra A srAy/e=
Shadsfe Bl & ?

(a) g R

(b) e UEAR

(¢) @uA §m@r

(d) TIEET gaBT

e & ° Frefafea & ¥ fowa aeree oo
TR (2011) & wATd fosam mam 2

(a) = Tl

(b) &. TEER

() & IAERE

(d) girr ey

f=fofeg & @ o, "Sea9 &
B sfgie” ¥ R dmeE
ST ISR 91 fbar 2

(a) 3T T

(b) o T '
(¢} 3 &R

anenfens A
T%ﬂ? s 2012 o

(@) & Mg

S o & A e tdepl IR Rega D #
5T w5y WeR 3 nitdy e & 7

(a) HRGS

(b) BerETg <

(c) e w9

(d) 3hfeen

Frefafe suEl ) far S5 .

1. RGeRT ¥ UF HSB @ AW, HRAK §ior
fEerS) warEe & AW W) <@ TR

2. IR @1 2014 IgHsw @ & R
IS e g T |

39 wuHl A W@ A T & e

(a) oad 1

(b) &ad 2

(© 13k 2<M

(@ Ad1982

73.

74.

75.

{19 - A)

A THOT @y frem (NRHM) & el #,

yffera Wy &wd, ‘ASHA, &

frefffea i I Iod € ?

1. wwagd S ¥ foe R @ w@ma g
ad o S |

2. WA $ IR TYE & e wmifar wam
. fove @1 s &< |

S 2 T BT BT wAT @R FE IR g
(a) &ae 1

(by e 2

(¢ 132+

(d) Ad@1T82

Frafafea T w faar Hifwe -

1. Ta & 0, IR Wew WeR 7 29 ¥ advam
AF JaT M sEhmm aRfafa sk
Fifad 7 & e 9w g Ao da
31T ST & | '

2. =9 fufw 7 aeRet @ smamyg A
gagrﬁﬁuamﬁxﬁmma%m@

IaTH TEEl ¥ B Ay 9w & ¢

(a) oad 1

(b) wad 2

(¢ 13k 2

(d) JFa@1T82

ffafag FoRl ) R i :

1. U AR Afg 2012 3 AW wuRY &
GH & o WA e

2. 3@ A ¥ TR B I gagdar 9 s
B 2 |

g HUH H A BT Ay G 28 P
(a) oad 1

(b) dae 2

() 13R 2t

(d) IAM1TE2



76.

77.

78.

0-DJT-MD-M-HB

PART B

Which among the following was the first
private sector establishment to get CISF
security cover ?

(a) Infosys Campus at Mysore
(b) Infosys Campus at Bengaluru
(c) Reliance Refinery at Jamnagar

(d) Electronic City at Bengaluru

CISF is providing security to private sector
enterprises on the basis of

{a) Access control only

(b) Access control and force

deployment

response

{(¢) Response force deployment only

{d) Total responsibility of access control,
perimeter security and response force
deployment to secure the enterprise

Which one of the following reflects correctly
the meaning of the statement “Industrial
Security is a dynamic concept” ?

{a} Every senior officer has his own
perception and ideas which change.
principles of industrial security

(b} Government's priority of industrial
security varies from time to time

(¢} Security requirements and threat

perception vary according to place and
time

(d}) Officers handling
change frequently

industrial

security |-

79,

80.

81.

82,

(20 - A}

When CISF is to be inducted in the private
sector priority is given to

(a) units located in cities
(b) u_nits located in remote areas
{c) units located close to the border

(d) units located in naxal,
affected or vulnerable areas

militancy

Which one of the following is no# the duty
of the members of the force ?

{a) Look after the needs and requirements
of the commanding officer

(b) Obey and execute all orders issued to
him by his superior authority

{¢) Protect and safeguard the industrial
undertaking

(d) Protect and safeguard the employees of
the industrial undertakings

Which of the. following
disaster(s) ?

(a) Floods
(b) Fire

isfare natural

(c) Drought
{(d) All of the above

Who i$ the chairperson of National Disaster
Management Authority ?

{(a) Union Home Secretary
{(b) President of India

{¢) National Security Advisor
(d) None of the above
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Rty 3 P s 3 R T T
.37 0.0, o GRET BThE g ?

(a) R e goiRm o

(b) dmee Rem FwIRE TR

(¢) TR fer Rema & daeied SREH
(d) e & FoES R

<518 TH.uw. Tl dm % wfRrom @ 6 s
UR GRETT 9EH Rl § P ‘

() paw i Frior

(b) 3firm Fraor wd sefear aa aRfdeE
)

(¢) e 3rffran act uRFAH

@) wEeE @ wen » fw ofmm FrEo,
oRe wRen #R srEfpar q@ aREEISH @
FRaTE

“3iteifire qReN v Mfceie WHeT &, 3 YT B
Prefafaa # & o wd swif # sfefafiaq sxar @

(a) R it @GR &1 3o A 3R foar g
¥ S sihifie Wen & fagia Taad e
g

(b) sife e @ dAR WOR Il
TG-T W T gl §

(¢) M 3R A0 & T YR WA FHRA
3R @Rl &1 dver ggerr gl @

@) siafie gRen @ TR WA el SR
a3 geeTd & ¢

i B
79.

80.

81,

82.

f 21 - A

fron & A3 w. U, &) TR ok 9 [5R
smrfireear < S & ?

(a) el ¥ fem sodl
(b) Yexadt amt ¥ Rem sewdl
(c) < & ot ferd sorgal

(d) 9, U wiled grrar sRfRE el A
frra go3dl

frfaRed & ¥ OF 91 U6, 9@ & 9! & DA

T8 & ?

(a) ©IF R @ swenst ik smavasanit
B g BT

(b) 3T ARG WiEerRT & Tl el & o
FHAFGIT AT

(¢) 3iehfirs wiamo™! &1 FR&T IR weT
(@ skifie sfreml & sdaRal @ Rem 3R

TRET Ya &1
frafafea § 4 39 0 wiglas sl 77 ?
(a) dg
(b) 3w

(¢) @i
() IR fcofEa af

TS 3T FEE ST B seas B ¢ 2
(a) S=a € A
(b) WRA & gafd

(c) SIS FREM AAEDR
(d) 3Iuges d | B8



83. During floods the first thing force personnel |87.
* should do is to
(a) arrest the criminal elements first
(b}  wait for senior officer to arrive
(e} contact NGOs for help
(d) immediately take action for rescue of
persons surrounded by flood waters
84. Which one of the following is nof a 88.
poisonous snake ?
(a) Cobra
(b} Krait
(c) Viper
(d) River snake
1
85. During fire disaster the first duty of police | g9,
officer is to
(a) take precaution to prevent spread of fire
(b) inform and wait for senior officer to
arrive
(¢} ecollect all the property at one place
(d) console all the victims of fire
86. Which is the regulator of aviation security
in India ? . 90.
{a} Ministry of Civil Aviation
{b) Special Director General CISF
(c) Bureau of Civil Aviation Sécurity
(d) International Civil Aviation
Organization
0-DJT-MD-M-HB { 22 - A)

(@

TIPS software i§ wused in the X-BIS
machines during the pre-embarkation checks

fo

(a) detect nuclear material

(b) detect all"types of explosives

¢) monitor the efficiency of the screener
{d) None of the above

Which is the designated Civil Aviation

Security Regulatory Authority in India ?

(a) DGCA
(b) BCAS
() AAI
(d) AITA

You find that the baggage of the passengers
is checked at the entry point of the
terminal building. Which security plan is
adopted at that airport ?

(a} Hold area plan

(b) Concourse plan

(c) Boarding gate plan
(d) None of the above

At the airports, which agency carries out
the Secondary Ladder Point Check ?

(a) CISF
(b) Local police /
(¢) Airlines security

Ground Handling Agency



83.

g % dRM a6 % DH® B Fad Ug a1 BRI
ofee ?

87.

(a) FTRIE awdl @ 969 UE FRER BRA

g
aftss IS & A B e B AT

fe-wwed 9l ¥ werma & e wad
FHAT TRy

TG & T ¥ R Al o sum $ foe BikA
FAAE B T

(b)
(c)

(d)
88.

84. Pretferiam ¥ & ol sreien Wia A @ 2
GRER

L]

(a)
(b)

(c) TRW

(@) T&-ad
89.

ST ot BT 3 R g I @ vee e
T ?

(a) 3 @ B A Ao B @G S

(b) IS IHEY P GRE TR IS I B
TN Al

IR AT DY TH W W EhiEd BT
T AfTdfEa & A= A

85.

(c)
(d)

86. 90.

TR ¥ TR R e o Frane B & ?
(a) MRS fawea S

(b) 3.0, & R WIS

() “mRe R gRen &

(@) IR ARe fuee e

0-DJT-MD-M-HB (23 - A}

X-BIS #eli # TIPS Hiweddy.. mgéamas.
2 T fore wges gen @ 2

(a) R verl & WgE &

T TE $ RRees! B EqE &g
TR @ gea B "R HH 8g
IRGE W A B A

()
(c)
(d)
e ¥ AR e gRen Frams siteor & w9
# ol AR & 2

(a) DGCA
(b) BCAS
{e) AAI

(d) AITA

A0 Ear B R genfts]i & g @ efiee Haw
¥ v gR R Sifg & o @ | e 3 R @ W
RET BISHT 3T Sl & ?

oo &F (DS TRan A
STHIEET et

(c) mm(aﬁﬁnﬂa)m
(d) 39w d F P T

(a)

(b}

@i g W EAw |ee S oF @ el
FE?

{31 0. U,
MG e

(a)
(b)
(c) UTRETE [Rem

(d) el Proer SR (v dusfor o)
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Which of the following is/are essential for field

(a) Understand the layout of the land and

identify shelters

(b) Create shelter where it does not exist
for taking position

(¢) Knowledge regarding the weapon and
its effective use

(d) All of the above

While making an “Observation Post”, which
one of the following is most essential ?

(a)

Select a place from where you can see
but you are not visible

(b)  Your observation post is lower than the
area to be observed

(c}) Ignore important landmarks

(d) Do not look here and there

What is field craft ?

(a) Understanding of the field where you
are deployed

(b) Craft for drawing the map of the field

(¢) While protecting and securing from fire
arms, taking position behind proper
man-made/natural shelter and using
your fire arms effectively

(d) None of the above

In its day-to-day work, CISF mainly deals
with

(a) Espionage

{b) Sabot&age

(¢) Subversion

(d) None of the above

Difference between a contact and a source is

(&) contact gives routine information

(b} source gives inside information

(c) contact is mentioned in the register
(d) source is formally paid and registered

{ 24

96.

97.

98.

99.

100.

-A)

F-mmn_’-" e el e el el e e e e e e L S R

Which one among therfolloWing is installed as
a covert system in Perimeter Intrusion
Detection ?

{a) Taut wire
(b) Electronic fence
(¢) Buried cable

(d) CCTV system

Which one of the following is/are used for
perimeter security ?

(a) Intrusion detection device
(b) Power fence

(c) Taut wire

(d) All of the above

Which one of the following agencies is the
‘watch-dog’ of all nuclear activities in India ?

(a) Department of Atomic Energy (DAE)

(b} Atomic Energy Regulatory Board
(AERB)

(c} International Atomic Energy Agency
(TAEA)

(d) Nuclear Power Corporation of India

Limited (NPCIL)

The Exclusive Zone in a Nuclear Power Plant,
(NPP) from centre of a nuclear reactor is

{a) 06 km
(b} 11km
{c) 16 km
(d) 21 km

Habitation is not allowed in the Exclusive
Zone around a Nuclear Power Plant (NPP)
mainly because of

(a) Radiological reasons

(b) Security reasons

{(c) Disturbance .to scientists
(d) All of the above
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Brffiae # 2 o, g 3% e amaeas 78 ?

A & @ g iR et & fufga
HRAT

st @ % fée, ans SueeT 7 dF W IS
it o=

e (FRER) ¥ ar 3k e dER
TR & IR ¥ TEGR! @1
(d) 3ITGH T

Yegor Al s g, Fefefea & 2 o @ o
e HEeqF & P

(a) E@rmiﬁmaﬂ%mé@%ﬁﬁm
frard =1 &

{a)
(b)

(c)

(b)
fraot 'R R &

Hewagel sl Frame & 3tem &
TIR-TR T TH

(c)
(d)

yrag g ?
(a) FE 39 9 & 39 FTHE @ quE
(b) WM & IR IR & B BRI

() amardl ¥ IRem AR sEE wA g
- srar e angl ¢ G dwehRe
T g A FARA BT GHTET gl

s # & Bg T

I JERT F BW T DI IS, & P
fere-fowr & o gaa & 7

(a) . SRR

(b) dEBE

(¢) &9

(@) Iwges ¥ F 50§ 7

(d)

w06 3R 3 & 7T T Bb 2 P

(a) wOd ST B Gane ar @
(b) 9T IR B G & @

(¢) wd o A Iorex W @ A #

(d) 9 Uoiipd dar & 3k 3 faftraa yar fean
S &

IR WE I Gl SR Y gy Yeror =iy |

96.

97.

98.

199.
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100.

FrfeRaa 4 ¥ 6 oftfy gats @1 & foe q@
9 & g i g fear S @ P

(a)
(b)
(c)
(d)

T 8R (2T aRR)
IS O

ST §A AR

& .a. =awn

R wen & foe Frafolaa & @ fow @ @
Jodn g 878 ?

(a) gals @S g

(by fasen & T

{¢) AR (2C aR)

(d) 394w |l

frafofaa 9 @ o9 @ e, wRa & 7l AT
wfefaftrdt & fore FiRe o= @ sifasor & 2
(a) W] F3A faumT (DAE)

(b) wRuW] FH famTs 9F (AERB)

(c) SiaRi ] Har Hfiaor (JAEA)

(dy wWRdrg hidr ke Fm fafids (NPCIL)

AR F §9F (NPP) § 3m=a &4, e
fRrr S P APt QR 2 ?

(a)
{b)
(c)
(d)

0-6 km
1-1 k.m
1-6 km
21 km

TS Fot §IF (NPP) & IRI RS 30 &7 §
At @ T e SR § &9 T o S ?

(@) Fafeor fuftee-damfe ool |
(b) IR&T BRON §

(¢) dsnfeest &t FHrdaren BRul A
() IRfH il HROT



101. In a Nuclear Power Plant (NPP), Perimeter |105.
Intrusion Detection System (PIDS) is put up
at
{a) Exclusive Zone
{(b) Main Plant Boundary
(c) Waterfront
{d} Operating island
g 108.
102, Intelligent camera in: a CCTV system
performs  which one of the following
functions ?
(a} Identifies a potential threat by
. measuring his intelligent quotient (IQ)
(b) Identifies a potential threat on the basis
of pre-determined behaviour patterns
(¢) Spots an un-identified object
(d} None of the above 107.
103. What is the meaning of “Grad_ed Access
Control” in a vital installation ?
(a) Access is granted depending on the pay
grade of the person
(b} Access is granted only on the basis of
need to have an access to the|108.
installation
() For very vital installations, security
personnel having higher pay are posted
to guard it
(d) These are grades given to various 109.
installations
104, “Video Analytics” is
(a) Analysis of various videos of CCTV
cameras by a trained person sitting in’
control room -
_ o 110.
(b) Analysis of thermal imaging camera
‘pictures by contrel room in-charge
(¢} Computer software which analyses
images of CCTV
(d) A tool used for productlon of catchy
videos for MTV
0-DJT-MD-M-HB {26 - A)

(a)

Which one of the following is the most
advanced form of biometric system 7

(a)

Iris print

(b Palm geometry
(c) Finger print
(d) Foot print,

TIP software is installed in X-ray Baggage
Inspection System (X-BIS) to

(a)

help screeners increase throughput of
X-BIS

decrease radiation levels

(b)
(c)

help screeners increase clarity of X-ray
images

(d)

help screeners maintain efficiency and
alertness

The Door Frame Metal Detectors (DFMDs)
are designed to detect
(a) Ironm, steel, lead and aluminium objects

(b) Ferrous and non-ferrous metals only

{¢) Lead, aluminium, ferrous and
nen-ferrous metals

(d) Lead, aluminium, ferrous and

non-ferrous metals and metallic alloys

Bomb blanket and bomb basket are

(a) detection equipments
(b) disposal equipments
(¢) Both (a) and (b)

(d) Neither (a) nor (b)

Non-Linear Junction Detector is used as an
equipment of which one of the following ?
Perimeter Security

Bomb disposal

Access control

None of the above, as it is used as an
equipment of railway safety

{b)
(c)
(d)

Which one¢ of the following equipments is
generally used for real time detection of
semi-conductor devices, buried underground ?

(a) TUVSS
(b) ETD
(ey HHMD
(d) NLJD



.

!

101.

102.
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gfeRegl & MR W gEadT @
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e e e & P
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&

(b) wam, a6 s # Wy &= D
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A fiewo-ay (AR eRem @ @
i g P

(a) ve vl @Re eRT da w9 A doax

ANAR. FR g1 G e gz 7
F1 fagemor &A1

(b) H=ie w0 yHR g ardrg wfafara kA o
TS TRl o fagemor

(¢) ®WER HiweadR, s QLA $ whafewl
@1 faedmor & &

(d) ten SR S MTV & fiv srads dfga
FAed T &

105..

106.

107.

108.

109.

110.
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frfafeg & @ 3R W ve, dfida yword &
At SFa T § 2

(a) aRaReer oo

(b) ad saHf

(¢) 3WfH B

(d) U< 8™

X-foeor smmee (dE) Rigon sonelt (X-BIS) #

TIP diteaaR 6 foe avman sien & 2

(a) X-BIS & daw ware & 3fg & A W
B TErae 7

(by Rfi=w wR & wr g

() X-fovor vlafart & wear & gfg &=+ &
TR B FEaar 8

(d) Tl U WEUR) U @ A wER B
el 8

BRI U1y WYES (DFMDs) féus w¥ma ¥g
sfvfge foe e € 2

(a) g, wa, I iR GRS

(b) aw dE (=) W (AT9-%%) el
(© ¥, b, dr ARk st G0N

urqe
(d) @, tefafm, dl 3k swEe agd
afcads Fsargy

TelpciRam arse T d ?
(a) GG YOI

(b) Fues Juasor

() (a) 3R (b) I

(d) Ad(a)T R (b)

¥fas Y by, FEim 1A s & &

JYEBROT F FT F FGH el © P

(a) uRRr-wRen

(by &0 fueH

(¢) Ry Fdor

(d) Ig® T A T AL, b g8 W W1 S
3YARYT BN TRE UGTH B

fefeiaa 3uaxol & & @ W P, T A TS
sface giwdl & ardfos mg WEE & e
AR W W 8T & P

(ay UVSS

(b) ETD

(¢) HHMD

(d) NLJD
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Sample collection to check the presence of
explosives is carried out by

(a) surface wipe for trace particles using
filter unit

(b) surface wipe for vapour using filter unit
(¢} air.collection for trace particles

{d) All of the above

Remotely Controlled Vehicle (RCV) is used in
(a) conducting experiments on other planets
{b) bomb disposal

(¢} conducting surveillance

(d} All of the above

Which one of the following is the highest
category protectee ? .

(a) Z category protectee
(b} Z* category protectee
(¢) SPG protectee

(d) CISF protectee

A CISF officer who is in-charge of security of
a Z* category. protectee opens fire in order to
defend the protectee from an imminent attack.
Under which of the following is such action
justified ?

(a) Blue Book

(b} CISF Act

(¢} MHA Instructions

{(d) Provisions of Right of Private Defence

In respect of duties of force personnel during
election at the polling booth, which one of the:
following is not corrrect ?

(a). Making the voters stand in a queue
(b) Ensuring peace at the polling booth

(¢) Ensuring security of polling parties and
polling boxes

(d) Help voters of a particular party

118.

117.

118.

119.

120,

(28 - A)

While briefing personnel going for poll duties
what should not be done ?

(a) Brief them about their duties

(b} Brief them about the local law and
order problems

{(c) Brief them about any extremist, naxal
problems of the area

(d) - Encourage them to collect voters on the
date of voting

During election duties which should net be
done ?

(a}) Give proper attention to maintaining
law and order in the area

(b} Election publicity can be allowed beyond
100 yards of polling booth

(c) . If a voter is using malpractice to cast
his vote it should be brought to the
notice of presiding officer

(d) Give attention to securing your arms

When put on the Internal Security duties, the
CISF draws its powers from

{a) CISF Act

(b) Central Government
(c) State Government
(d) None of-the above

In conducting major elections in India, the
final decision in important matters is given by

(a) the Central Governm_ent
(b) the State Government
(¢) the Returning Officer
(d) None of the above

In VIP security, vehicles move in a box
formation because

(a) the face of the VIP should not be visible
to an attacker

{b) no other vehicle should be able to
approach the VIP vehicle

{¢) nobody should be able to fire at the VIP
(d) None of the above

Y
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9 9

(c) oo ®uil ¥ R arg Twewr

(d) 3Ifd 9 |
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S E ?
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(b) 7 Fuem &

(¢) P &R

(d) Ioges w4

frafafaa & & o w1 v, Swan S &1 w@=eor
Tdbar € ?

(a) Z ®IfE TRewT yradal

(b) Z* PIfe TeoT Mt

(c) SPG W&V Waddl

(d) CISF &0 adset

@S CISF 3weR, 57 o Z+ T IGRet il o
JPRET B YR §, UH IES HEN A

(b)

TRU-YIEH & gar & e Wl T @ od
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(a) T gF
(b)y CISF aftrfram

() MHA 3re™
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Hded g W wifd gifad s

TaeH T 3R waes WD @ Rem
gfRaa s

(@) &S @™ g & AaaaEt & qee AT

116.

117.

118.
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{b)

HAEH 3L R S AT HIHS BT WA 7GR &
ge T 7@ @< aeu ?

(a) I o e & IR § ddw & oy &
. 3¢ I S 3R e & gt &
R # Haw § faavor &

3R &7 & fee IEE), Aode wEe & R
4 déu ¥ fawor 3
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fud e
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(a) CISF arftfm
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{c)

(d)

\

(b)
(c)
(d)
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An ‘Unlawful Assembly’ can be dispersed by
CISF

{a} on its own

(b) when deployed on Internal Security
duties

(¢) on order from the SHO

(d) in none of the above situations

Under CISF Act, CISF can arrest a person
when

(a) the person does anything illegal

(b) the person obstructs CISF in discharge
of its duties

(¢) the person commits an accident with a
CISF bus

(d) in all the situations given above

Under CISF Act, CISF personnel have powers
of personal search

(a)

of any perscn

(b) of any person during access control

() of a person after he is arrested by it
under CISF Act ’

(d) in all the situations given above

Under the Section 25 of the Indian Evidence
Act

(a)

confession before a Police Officer can be

proved

(b) confession before a Police Officer can
not be proved

(c) confession before a Magistrate can be
proved

(d) None of the above

Dying declaration is a statement made by a
person

(&) about any matter

(b} =zhout a criminal offence

(c) about the cause of his death
(d) All of the above )

126.

127,

128.

129.

130.

(30 - A}

Section 45 of CrPC relates to

(a) arrest by a member of an armed force
‘when on duty

(b) arrest of a member of an armed force
for anything done during discharge of
official duty

(¢) arrest of a member of an armed force by
a Magistrate

(d) None of the above

Under law, CISF personnel can use physical
force to -

(a)

break a strike in an undertaking

(b) prevent an employee from teasing
females

(c) prevent damage/loss to property of an
undertaking .

(d) in all the above cases

Disciplinary powers under CISF Act provide
for

(a)
(b)
(c)
(d)

dismissal of CISF perscnnel
discharge of CISF personnel
confinement in the cell

All of the above

Salary under the Workmen's Compensation
Act can be fixed of

(a) workers including CISF personnel
posted in an undertaking

(b) managers and workers of an
undertaking

(c) only managers of an undertaking

(d) None of the above

Industrial Disputes Act deals with

(a) disputes of one undertaking with
another

(b) disputes between the managers of an
undertaking

(c) disputes between the labour and the
management

(d) disputes between the labour unions
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i

In a preliminary enquiry, the statements can
be

(a) oral

(b)  written and signed

() only written but not signed
(d) All of the above

In a departmental enquiry, a defence
assistant is chosen .

(a) by the department for the defence
(b} by the charged official

(¢} by the enquiry officer

(d) All of the above

After arresting a person, CISF hands him to
police

(a) after conducting investigation
(b} after 48 hours

{c) after recording his confession
{d) Ncene of the above

Confession before police which leads to

recovery of case property
(a) is hit by Section 25 of the Evidence Act

(b) can be proved under Section 27 of the
Evidence Act

(¢) has to be
magistrate

(d) None of the ahove

in the presence of a

A cognizable case is the one

(a) in which police can arrest with a
warrant from the Court

(b) in which police can arrest without a
warrant from the Court

(¢) in which police can arrest after taking
permission from their Superintendent of
Police

(d) None of the above

136.

137.

138.

139.

140.

(32-A)

The part of the computer. \;iher_e data being
processed can be written to and read from is

(a) ROM
(by CPU
() RAM
(d} Disk drive

A window that appears on the screen with a
message and requires response from the user
is

(a) a pop-up menu window
(b) a status-bar window
(e} a dialog box window

(d) an information window

Information is
(a} a collection of raw facts and figures

(b) any data that is being input from an
input device

{(c) summarized data that is useful for

decision making

(d) whetever requirements the client
describes to a software professional

Firewall software is used
(a) for increasing the browsing speed
(b) for protecting the computer screen

(¢) as an anti-virus program

{d) in all the above cases

What is ‘ethical hacking’ ?

(a) , Hacking done by people with high level
of ethical values

(b) Hacking done after warning the owner
of the computer '

(¢} Checking of security of own computers
to find loopholes for removing them

.(d) Hacking done by people who donate

money obtained from it to charities

.
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Important data should be transmitted through
which one of the following methods for it to be
secure ?

(a) Any NIC based servers
(b) Any private server but only at night
(c} Only through physical transmission

(d) None of the above

The term ‘anti-virus’ used with reference to
computers is

(a) a hardware part fitted to hard disc

{(b) a program  which detects and
neutralizes harmful programs

(c} a vaccine periodically administered to
frequent computer users

(d) a spray used to clean computers on a

daily basis

Files can be saved on the computer in the
following places :

(a) C-drive only-

{b} V-drive only

{c) H-drive only

(d) All of the above

Which one of the following is net a
hardware ?

(a) Optical mouse

(b) Windows 7

(c) CD-ROM drive

(d -COmputer hard disk

Consider the following statements :

1. A computer that works faster than
others has a larger hard disc capacity.

2. A computer that works faster than
other has a better processor speed than
other computers.

Which of the above statements is/are correct ?

(a)
(b) 2 only

(¢) Both 1 and 2
(d) Neither 1 nor 2

1 only

146.

147.

148.

149,

150.
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iCY

Joint survey for induction’ of CISF in an
Undertaking is done by

(a) Commandant and DIG

(b) CISF and District Magistrate
(¢) CISF and Management

(d) MHA and Management
“Enrolled member” of the force means

(a)

a member of the force recruited by -
Commandant

(b)

a member of the force recruited by
UPSC

{c) a member of the force recruited by S58C

any subordinate officer, Under Officer or
any other member of the force of a rank
lower than that of an Under Officer

Under CISF Rules 2001, force will consist of

(a) Executive branch and ministerial
branch only

(b} Executive branch, fire service branch
and ministerial branch

(c) Director General and other ranks

(d) Subordinate ranks

The head of the CISF is

(a) Home Minister

(by MHA

{¢) Home Secretary

{d) Director General

Which is mno# a major penalty under

Section 34 of the CISF Rules ?
(a)
(b}
(c)
(d)

Dismissal from service
Removal from service
Withholding of promotion

Compulsory retirement
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